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Topic:- Child Development & Pedagogy (CDP)

1) Today’s classrooms now welcome learners. / 3iTST 3l ?ﬁ&rreff ¥ o . fiT&-ITfﬁlﬁ BT R Eﬁ?IT %I
1. Talented / TfqyTRITSlt

2. Diverse / fafay

3. Gifted / HfaHT=TeH

4. Special need / fafery sexade

Correct Answer :-
« Diverse /fafay

2) Short term deficit of sleep affects learners by: / T'ﬁa' I reuTafy HH ﬁT&m &I gUTad Bl % :

1. increase in weight/ aoi ¥ g

2. increasing the risk of diabetes/ I[?\{a_s' CAREGNICIELI

3. weakening immunity/ FHHSIR iRl

4. reducing concentration and memory/ YhTUdT 3R F{ﬁ P HH BT

Correct Answer :-

» reducing concentration and memory/ THTIT 3R Fjﬁ DI HH HAT

3) Inequality in education has been reduced in India due to: / HRRd - ﬁT&‘IT o SRTHEAT ﬁﬂ:[:l T PRI SH 3-1 TI'E‘[ %:
1. Religious intervention/ i ER?[?H‘E{

2. Social Reforms/ JHNS JUR

3. Constitutional provisions/ FauTfie grau™

4. Cultural diversity/ H@ﬁﬁ; fafaerar

Correct Answer :-

« Constitutional provisions/ TauTfie grau™

4) NIOS is an example of agency of education. / Q';T\?Tf'&;@hw, fRram#t t{ﬁ'{-ﬁ BT TP JGlgrul %I
1. non formal / TR-3NT=TRS

2. formal / 3NTETRS

3.NGO / Tona3it
4. informal / 3fAT=Re®

Correct Answer :-

« non formal / TR-3Nu=nRe

5) What are the family and community resources that children can draw upon collectively called? / Q'\ﬁ qiiaTi® 3k mﬁ?ﬁ LNICE K]
g, o I 7= wrfe® ¥ 9 s fifa 8 9@d 32

1. Membership capital / F&dl Uh\_rﬁ

2. Structural capital / GIATHD qsﬁ
3. Fiscal capital | ASTH Y 1173'11



4. Social capital / IS Trﬁ

Correct Answer :-

« Social capital / TS ‘{\_rﬁ

6) What are the ways to engage students in problem-solving strategies & extend their thinking? / HHXT Eg| Wﬁ 3t Yorifaal & o &t
HAT P 3R IS WY BT W TgH S P T 52

1. Use of concept formation, inquiry & synectics / SIGYRUI TS, YOS 3R rem3it &1 IuAnT
2. Addressing questions again & again/ §R-dR U4 P ST BT

3. Talking to friends nicely/ TRl O 3 ¥ &1 X

4. Giving them extra homework / 3% ffaftad EF?HT‘R Wltfa_'ﬂ

Correct Answer :-

« Use of concept formation, inquiry & synectics / SITYRUIT 7S, YS IS 3R T3 BT UGN

7) What type of reasoning is characterized by moving from the general to the particular? / qTHIRI 3 fafdm &1 sik aa%r Y fFaTeR &
ad o1 faRiwar gars ol @2

1. Transductive reasoning / UIRITH GE2 (gi'{-lsctﬁ(\id NSIEY)
2. Inductive reasoning / 3{TTHATHD ab (3%1%31 ST
3. Deductive reasoning / frfrers ad (%31%3 =)

4. Hypothetical reasoning / Ulddh eU-[HPp ?‘lé;(ﬁl‘il‘llq{échﬂ NSIEuN

Correct Answer :-

« Deductive reasoning /et a6 (%Gﬁa =)

8) What is the part of memory that stores information that one is not consciously aware of? / Wﬁf BT TE B AT UFT %, St gt GCRI

HUEd AT § e 939 ©U @ THeR) T8 wdl 82
1. Dual memory /a?ﬁ Fﬂﬁl

2. Explicit memory / ¥J¥ Wﬁf

3. Implicit memory / 3faffgd Wfa

4. Conscious memory / IS @iﬁf

Correct Answer :-

« Implicit memory / 3‘[3%3 Wﬁ

9) What is the phenomenon wherein previous exposure to a word or concept makes later recollection easier? / dg YT T % fora fareht
TTeg T SAYRUNT & Ud & TS | 31 A TG BT WRUT SR g1 A1 82

1. Priming / 1;I'IE'&I"T

2. Deriving / W

3. Subliminal perception / 3T TIENTEHRT
4. Subconscious memory / SICEGE] Fﬂﬁf

Correct Answer :-

« Priming / IR

10) Children are asked to narrate a story during the administration of which test? AcT:l Uﬂ&ﬂ & YA & aﬂ? gl B ﬂ'l:ﬁ ﬁ:l'ﬁ &
foe weTwmEaT 2

1. Children’s Apperception Test (CAT) / STd-Sfaa e TR0 (e
2. Minnesota Multiphasic Personality Inventory (MMPI) / e At i Tefadt gdcs (@'Qﬂ'cﬁ 3'|'I—s£)
3. Wechsler’s Intelligence Scale for Children (WISC) / TR geferoic Whd Bk ﬁl@q (@':Tc‘q\@ﬂé'@?ﬁ)



4. Thematic Apperception Test (TAT) / fawd-siraraem wieror (dudh)

Correct Answer :-

« Children’s Apperception Test (CAT) / Q- fTSe TRAEOT (@Frqéb

11) Learner autonomy is a characteristic of: /ﬁT&ﬂﬁm fra o fagwar %?
1. Formal education / 3i0=Ras fRreqm

2. Traditional education / TRUR® TRref

3. Progressive education / TTfaRiter fRiem

4. Inclusive education / THTAR fR1&m

Correct Answer :-

« Progressive education / faite fRuen

12) Raven’s Progressive Matrices Test measures: / YA T URIRE ﬁﬁ"\q T TUAT B:
1. Intelligence / §@

2. Personality / Had@

3. Attitude / AFIGRT

4. Motivation / ORI

Correct Answer :-

« Intelligence / §@

13) According to Piaget, children’s development is progressing through 4 stages. / foras & SR, Ecikal a4
TRON & ATHH A W F IET B

1. Physical/ ifde

2. Emotional / HIGAT(HP
3. Functional / W
4. Cognitive/ SMTHS
Correct Answer :-

« Cognitive/ IHIHD

14) Many people who were alive at that time remember exactly where they were and what they were doing when they heard that Rajiv Gandhi

was assassinated. What type of memory is displayed here? /ﬂtﬁﬂa’ra\quaﬁﬁ Q%Wmiﬁﬁmmaﬂézﬁﬁﬁﬁa
Y, 32 SF A UG 2 5 d Fel & SR AT IR A | 98T b TR o) fa it 7€ @2

1. Flashbulb memory / Uﬁaﬁ Wﬁ

2. Declarative memory / HIYUTES Wﬁf
3. Sensory memory / BEC] F{ﬁ

4. Semantic memory / ST Fjﬁf

Correct Answer :-

« Flashbulb memory / 11&‘3"@ Fﬂﬁl

15)  Learners are not included under “Exceptional Category”. / ey &1 » srqareraTe Aot F amﬁ-r!zrr&m?sﬁ
forar srar

1. Normal / 9TYRUT (:ﬁflﬂ)

2. Retarded / H& (ﬁ?ﬁ@)

3. Gifted / gfaHTRIE (ATHRS)

4. Slow / &8 (@l



Correct Answer :-

« Normal / HIYRUT (:I'\Iﬁf"l)

16) If a learner has difficulty in reading, then what type of learning disability? / Tfe Tdh Rremdf ot uaﬁ | m ﬁ’cﬁ %, at 3% frd PR
BT AT Srerwar 32

1. Dysgraphia / ST
2. None of these /3?!‘13( J ﬁ's‘ ol
3. Dyslexia / fewafaaan

4. Dyscalculia / %@maql%«r&n
Correct Answer :-

« Dyslexia / fewafean

17) An infant takes time to distinguish the father from other men. This aspect of development happens because of the following principle. / Th

Ry ) T &Y o goul & SR 3 A wHg @ran 2 | ey 31 g e Ay Risia & sRur giar 81
1. Whole to Part / Q0T & 3f¥T

2. Centre to Periphery / &% & GRfY

3. Part to Whole / 31 § qUf

4. General to Specific / ST ¥ a1y

Correct Answer :-

«+ General to Specific / ITHI RACIEUY

18) The famous physiologist whose work on classical conditioning influenced the field of child psychology is: 1wt TRR-fran ﬁ?l'F-ﬁ
AR ST @IS T ST W fhar a1 wf ara 7afag= & &7 S yufidd srar s, 3 &:

1. Edward Thorndike / USTS YTHSTSH
2. Wolfgang Kohler / IeHaT PIEA
3. Jean Piaget / EIEAERIE

4. Tvan Pavlov / 34 Uldad

Correct Answer :-

o Ivan Pavlov / mqﬁ?ﬂa

19) The proverb “Nothing succeeds like success” is applicable to which of the following laws of learning? / PgTdd “Teb AP Idl F T1¢ 31D
Tl fradt 81 siftrma & for fraw w ang ghar 82

1. Law of exercise /319 & faH
2. Law of readiness / dcUxdl & fraq
3. Law of cffect / WHTd & o

4. Law of success /AWhadl & a9

Correct Answer :-

« Law of effect / UHTd & fag

20) The characteristic of behavioral objective is: / auasm Gi'm il ﬁ"xﬁ'ﬂﬁﬂ %:
1. None ofabove/mﬁ%aﬁgqa

2. Observable and measurable / STAB 3R TRTT

3. Observable and Immeasurable / 3{ATH-IT 3R fifird

4. Non-observable / TR-3faali=1g

Correct Answer :-



« Observable and measurable / 3B 3R TRTY

21) Which of the following is a Humanistic view of motivation? / ﬁaﬁ*@a A TR BT Wﬂm m T %?
1. Need for self-esteem and self fulfilment / STETIRIT BT SILIDHT 3R SHTH ?‘Iﬁl

2. Beliefs, attributions for success and failure / YTRUI, H AT hT g 3R 3Bl

3. Goals, expectations and self-efficacy / €&, IHie 3R 3TH THTIHTRET

4. Incentives, reinforcers and punishers / Elf‘h‘l-l:[, {RWT 3R TUS ¢ ATl

Correct Answer :-

« Need for self-esteem and self fulfilment / ST BT ATTLADHAT 3R AT ?Ifﬁl

22) How many primary stages of development are present in Kohlberg’s theory on moral development? / Afe e R Faw! & Rrgia
ol & fora wrufires w=or Mivge 82

1.3
2.4
3.2

4.6

Correct Answer :-

23) advocated that all children have the potential to learn. / 3 \?vlﬂ'lﬁﬁ?f foar % for it a=af & e FY amar ﬁ?ﬂ %I
1. John Dewey/ayl:fg\a

2. Freud / IS

3. Friedrich Frobel / &R WHiad

4. Maria Montessori / v ﬁ%ﬂ'ﬁ

Correct Answer :-

« Friedrich Frobel / JrgRa Wiaa

24) are creative skill practice books for children for the enrichment of their creative thinking. / gl B TEATHS i &
Tad & o TS BT N F Rl A g1

1. Enrichment books / JH& W
2. Idea books / fd@R W

3. Integrated books / TdIgd T

4. Creative books / XdTHD W

Correct Answer :-

« Idea books / fGaR W

25) The key agent in Erikson’s Psychosocial stage of “Industry versus inferiority” is: / ~gRyw g9 AT ¥ e & wETETRG TRoT
TG ICH & -

1. Family / gRar

2. Parents / ATAI-TOaT

3. Primary caregiver / Ui Ggdh

4. Teachers and peers / fQT&‘le 3h? FIE'CI'I—O'CT

Correct Answer :-

« Teachers and peers / e SR TEurSt



./ T3 oft Sremar a1 59 & ST W oo W wA

26) The passion for doing anything in the absence of any compulsion or reward is

gk o] Bl

1. Intrinsic motivation / fGHTA SHTOROT
2. Extrinsic motivation / TATRTG S{HTUROT
3. Achievement motivation / SUCT< URUT

4. Level of Aspiration / 3{ThT&fT T TR

Correct Answer :-

« Intrinsic motivation / SATGATd IFATRUT

27) Which of the following is NOT a form of misconception? / fFrafafaa 3 @ w1 e Tad yRom T 82
1. Vernacular misconceptions/ HIGHTHT fiyea §®

2. Cognitive conflicted ideas / SRIFTHD TRER IEREINCEIR

3. Non-scientific beliefs/ GW HIdd

4, Preconceived notions/ Eam ICEIR

Correct Answer :-

« Cognitive conflicted ideas / GITTHD TR IEREINCEIR

28) Who strives to answer such questions as well as to understand, explain and predict behaviors that occur throughout

g—:rgfespan? / Sifae R 811 91 UGER &) HSH, FHSH 3R HIT=amol #39 &1 U S & A1Y-91Y T ard! & oard S
?
1. Developmental psychologists/ [CEARIGEAEEICRIIGED

2. Vygotsky theorist/ CIEIRS AR AR EAN
3. Fraud theorist/ @@Tﬂ@ EERGT

4. Erikson theorist/ WT‘T %@'(—‘I$ N

Correct Answer :-

« Developmental psychologists/ EEZRIRECREEIERII BT

29) To motivate an auditory learner, the teacher should encourage him/her to ./ oaur Rrenfiay oY ifvd $31 & forg,
fRrere o X diemfea w1 wfee f& I

1. use reading material in small units / Bt Wl?ﬁ o ga IRl &1 SUGRT B

2. participate in club activities and skits etc / d<Id I Tfafafeay 3R Arew (@7?) e J umT |

3. participate in discussions / =91  gidfea _s)fl

4. use coloured pen and highlighters while studying / um% B T T Had 3R gIEazed BT TarT B |

Correct Answer :-

« participate in discussions / =91 ¥ witfera Epfl

30) The effective learning as per Piaget's theory is ./ T & Rigia & AR guTdt siftemy H
1. content acquisition / Il Sdad

2. root memorization / Y& ATg XG-T

3. active learning / |ohd TATH

4. reading by heart / Th Tl q UeHl

Correct Answer :-

. active learning / TfHT SHFRTH

Topic:- General English(L1GE)



1) Read the following passage and answer the question that follows:

What is seen and heard over popular media has a lasting impact on the general public. That media is a vehicle of opinion formation is no bone of
contention, what is to be argued upon, though, is whether the drivers of this vehicle have lived up to their responsibility to uphold a nation’s
sentiments and progress as the fourth estate or not. Sensationalism and popularity have long overtaken factual reporting meant to make the
consuming public aware. TRP ratings are the deciding factor to what makes for good news and what doesn't. A recent survey pointed out to the fact
that media propaganda and consistent patterns of reporting can and have heavily influenced the cornerstones of democracy, this is no novelty
though. Following what the mob says or believing the voice that is the loudest has been happening since time immemorial but are these voices
contributing to the welfare of commoners or increasing their quality of life is a question that looms large.

According to the passage, what is it that determines which event/incident is published in the media?
1. The urgency or veracity of the news item.

2. The number of people who can be impacted by the issue covered.

3. The money paid for the particular news item.

4. The television rating points value a news item is believed to hold.

Correct Answer :-

« The television rating points value a news item is believed to hold.

2) Read the following passage and answer the question that follows:

What is seen and heard over popular media has a lasting impact on the general public. That media is a vehicle of opinion formation is no bone of
contention, what is to be argued upon, though, is whether the drivers of this vehicle have lived up to their responsibility to uphold a nation’s
sentiments and progress as the fourth estate or not. Sensationalism and popularity have long overtaken factual reporting meant to make the
consuming public aware. TRP ratings are the deciding factor to what makes for good news and what doesn't. A recent survey pointed out to the fact
that media propaganda and consistent patterns of reporting can and have heavily influenced the cornerstones of democracy, this is no novelty
though. Following what the mob says or believing the voice that is the loudest has been happening since time immemorial but are these voices
contributing to the welfare of commoners or increasing their quality of life is a question that looms large.

What does the word cornerstone mean in the context of the above passage?
1. Stone
2. Pillar
3. Basis

4. Threat

Correct Answer :-

« Basis

3) Read the following passage and answer the question that follows:

What is seen and heard over popular media has a lasting impact on the general public. That media is a vehicle of opinion formation is no bone of
contention, what is to be argued upon, though, is whether the drivers of this vehicle have lived up to their responsibility to uphold a nation’s
sentiments and progress as the fourth estate or not. Sensationalism and popularity have long overtaken factual reporting meant to make the
consuming public aware. TRP ratings are the deciding factor to what makes for good news and what doesn‘t. A recent survey pointed out to the fact
that media propaganda and consistent patterns of reporting can and have heavily influenced the cornerstones of democracy, this is no novelty
though. Following what the mob says or believing the voice that is the loudest has been happening since time immemorial but are these voices
contributing to the welfare of commoners or increasing their quality of life is a question that looms large.

What can you infer from the above passage?

1. That media has the ability to mould civic estimation
2. That media has made leaders behave differently

3. That media has ruined public life

4. That news is no longer a medium that is reliable

Correct Answer :-

« That media has the ability to mould civic estimation

4) Read the following passage and answer the question that follows:

What is seen and heard over popular media has a lasting impact on the general public. That media is a vehicle of opinion formation is no bone of
contention, what is to be argued upon, though, is whether the drivers of this vehicle have lived up to their responsibility to uphold a nation’s
sentiments and progress as the fourth estate or not. Sensationalism and popularity have long overtaken factual reporting meant to make the
consuming public aware. TRP ratings are the deciding factor to what makes for good news and what doesn't. A recent survey pointed out to the fact
that media propaganda and consistent patterns of reporting can and have heavily influenced the cornerstones of democracy, this is no novelty



though. Following what the mob says or believing the voice that is the loudest has been happening since time immemorial but are these voices
contributing to the welfare of commoners or increasing their quality of life is a question that looms large.

Which of the following statements is true as per the passage?

1. Journalism in the recent past has been the torchbearer of truth.
2. Media has been the best vehicle of opinion formation.

3. Media has the power to influence the common public.

4. Media cannot mould public opinion.

Correct Answer :-
* Media has the power to influence the common public.

5) Read the following passage and answer the question that follows:

Bees are the most useful of all insects. They live in a hive. We get honey and beeswax from bees. Purified and bleached beeswax is used in the
production of food, cosmetics, and pharmaceuticals. Honeybees are social insects that live together in highly organized colonies. Each member has a
specific job to do. A single honeybee cannot grow or survive by itself. The three distinct kinds of honeybees in a colony are queen, worker, and drone.
The queen’s function is to lay eggs. On an average she lays around 1500 eggs in one day. The drone or the male bees are few in number and their
main function is to mate with the queen, after which they die. The worker bees perform a variety of jobs. They collect nectar and pollen to make
honey. They produce wax to make new honey combs. They guard the hive entrance and they feed the young ones.

What is the function of a queen bee?
1. To lay the eggs.

2. To go out and fetch honey.

3. To divide the work.

4. To monitor the work of other bees.

Correct Answer :-
« To lay the eggs.

6) Read the following passage and answer the question that follows:

Bees are the most useful of all insects. They live in a hive. We get honey and beeswax from bees. Purified and bleached beeswax is used in the
production of food, cosmetics, and pharmaceuticals. Honeybees are social insects that live together in highly organized colonies. Each member has a
specific job to do. A single honeybee cannot grow or survive by itself. The three distinct kinds of honeybees in a colony are queen, worker, and drone.
The queen’s function is to lay eggs. On an average she lays around 1500 eggs in one day. The drone or the male bees are few in number and their
main function is to mate with the queen, after which they die. The worker bees perform a variety of jobs. They collect nectar and pollen to make
honey. They produce wax to make new honey combs. They guard the hive entrance and they feed the young ones.

What is the function of worker bees?

1. Collect the nectar and pollen to make honey.
2. Assist the drone bee or male bee.

3. Assist the queen bee.

4. Lay the eggs.

Correct Answer :-

« Collect the nectar and pollen to make honey.

7) Read the following passage and answer the question that follows:

Bees are the most useful of all insects. They live in a hive. We get honey and beeswax from bees. Purified and bleached beeswax is used in the
production of food, cosmetics, and pharmaceuticals. Honeybees are social insects that live together in highly organized colonies. Each member has a
specific job to do. A single honeybee cannot grow or survive by itself. The three distinct kinds of honeybees in a colony are queen, worker, and drone.
The queen’s function is to lay eggs. On an average she lays around 1500 eggs in one day. The drone or the male bees are few in number and their
main function is to mate with the queen, after which they die. The worker bees perform a variety of jobs. They collect nectar and pollen to make
honey. They produce wax to make new honey combs. They guard the hive entrance and they feed the young ones.



According to the passage, how many eggs does a queen bee lay on an average?
1. 1000

2.500

3.2000

4. 1500

Correct Answer :-

8) Read the following passage and answer the question that follows:

Bees are the most useful of all insects. They live in a hive. We get honey and beeswax from bees. Purified and bleached beeswax is used in the
production of food, cosmetics, and pharmaceuticals. Honeybees are social insects that live together in highly organized colonies. Each member has a
specific job to do. A single honeybee cannot grow or survive by itself. The three distinct kinds of honeybees in a colony are queen, worker, and drone.
The queen’s function is to lay eggs. On an average she lays around 1500 eggs in one day. The drone or the male bees are few in number and their
main function is to mate with the queen, after which they die. The worker bees perform a variety of jobs. They collect nectar and pollen to make
honey. They produce wax to make new honey combs. They guard the hive entrance and they feed the young ones.

Where do the bees live?
1. In a kennel

2. In a nest

3. In a hive

4. In a tunnel

Correct Answer :-
o Inahive

9) Fill in the blank with the correct option in the given sentence:

The small grooves in long-playing records are called --grooves.

1. macro --

2. micro --

3. multi --

4. poly --

Correct Answer :-

¢ micro --

10) Fill in the blanks with the correct option in the given sentence:
The hall is attract-- decorated and the decorat-- have done a splendid job.
1. -ed ... -ion

2. —-ive ... —ively

3. —-ively ... --ors

4. --ion ... --or

Correct Answer :-
e --ively ... --ors

11) Which of the following options best combines the given sentences?

Mr. Joseph is a writer. He writes in a powerful style.

1. Mr. Joseph, a writer, write in a powerful style.



2. Mr. Joseph, having powerful style of writing.

3. Mr. Joseph's writing is a powerful style.

4. Mr. Joseph writes in a powerful style.

Correct Answer :-

« Mr. Joseph writes in a powerful style.

12) Choose appropriate articles for the given sentence:

Mime is ____ type of performance carried out without ____ use of props or language.
1. No article required... No article required

2. No article required ... an

3.a..the

4. the ... an

Correct Answer :-

13) Choose appropriate article for the given sentence:
MP (member of parliament) visited our school today.
1. No article
2.A
3. The

4. An

Correct Answer :-

14) Choose the appropriate determiner for the sentence given.

of the shops in our area are closed on Sundays.
1. Any
2. Most
3. Every

4. Much

Correct Answer :-

e Most

15) Choose the appropriate option that rewrites the given sentence in its passive voice.
The company pays a lot of taxes to legally bring goods into the country

1. A lot of taxes by the company are paid legally bring goods into the country

2. A lot of taxes are paid by the company to legally bring goods into the country.

3. The country is paid a lot of taxes by the company to legally bring goods.

4. Lot of taxes by the company is paid to legally bring goods into the country.

Correct Answer :-

« Alot of taxes are paid by the company to legally bring goods into the country.

16) Choose the appropriate option that rewrites the given sentence in indirect speech:

The doctor said to the patient, “You should quit smoking immediately.”

1. The doctor said to the patient you should quit smoking immediately.



2. The doctor said to the patient please quit smoking immediately.
3. The doctor asked the patient that to quit smoking immediately.

4. The doctor advised the patient to quit smoking immediately.

Correct Answer :-
« The doctor advised the patient to quit smoking immediately.

17) Choose the appropriate synonym for the highlighted word in the given sentence.
He refused to admit his mistake.

1. allow

2. argue

3. say

4. confess

Correct Answer :-

» confess

18) Choose the appropriate tenses to fill in the blanks in the given sentence :
He ___ shortofcash,sohe______ me a post-dated cheque.

1. has been, has been giving

2. will be, will give

3. is, had given

4. was, gave

Correct Answer :-

e was, gave

19) Choose the appropriate antonym for the highlighted word in the given sentence.

Chefs today create new dishes by putting together interesting foods.

1. Manipulate

2. Fuse

3. Destroy

4. Defuse

Correct Answer :-
o Destroy

20) Choose the appropriate conjunction for the given sentence.

She will not remember about her guitar class you remind her.

1. when

2. 50

3. unless

4.if

Correct Answer :-

e unless

21) Choose the appropriate prepositions for the given sentence:

The expert wrote authoritatively ____ the topic ____ exercise and its effects ______ mental health.

1. with ... on ... with



2. on ..about ... in
3. about ... of ... on

4. against ... of ... towards

Correct Answer :-
e about ...of ..on

22) Choose an appropriate modal for the given sentence:

We achieve anything with our willingness.
1. can

2. might

3. Won't

4. would

Correct Answer :-

23) Choose the option that best explains the highlighted expression:
I am prepared to compromise, but Raja won’t budge an inch.

1. allow my opinions

2. ignore my ideas

3. won’t change his opinion

4. disagree with me

Correct Answer :-
« won'’t change his opinion

24) Choose the option that substitutes the given phrase appropriately.

Forceful or fiery speeches
1. Combat

2. Whiplash

3. Debate

4. Haranguer

Correct Answer :-

e Haranguer

25) Choose the most suitable pronouns for the given sentence:
_ ratherpride_____on____ cooking.

1. He ... him ... your

2. It ...its ... your

3. | ... myself ... my

4.1 ... me ... their

Correct Answer :-

e |..myself..my

26) Read the sentence carefully and choose the option that has an error in it:



Priya loosed her pen when she was playing.
1. Priya loosed

2. when

3. she was playing.

4. her pen

Correct Answer :-

e Priya loosed

27) Choose the right tag:

You're watching a soap opera, ?
1. don’t you

2.isn'tit

3. are you

4. aren’t you

Correct Answer :-
e aren’tyou
28) Choose the appropriate tense to fill in the blank in the given sentence:

If he had gone to Agra, he the Taj Mahal.

1. have been seen
2. saw
3. had been seen

4. would have seen

Correct Answer :-
« would have seen

29) Choose the right tag:

Your friends can help you, ?
1. won't they

2. can they

3. can't they

4. don't they

Correct Answer :-

e can't they

30) Rewrite the following changing the active sentence to passive.

They jumped across the road when they saw the police van.

1. When the police van was seen by them they jumped across the road.
2. When see police van by them they jumped across the road.

3. When police van was been seen by them they jumped across the road.

4. When police van seen by them they jumped across the road.

Correct Answer :-

* When the police van was seen by them they jumped across the road.



Topic:- General Sanskrit(L2GS)

1)

UR=de UTdcar U2elEd ?_J,ﬁdjrdi g -

HHG USh TFHATd | 31d UF SToll: 3¢ ‘USHhold i Gearedied |
Helloollel Haf ATGRAIR T ToUH | HHe T Hafd IalsET JE,
s avdeeH sfa o ufagia JAfd (Se Hacad: 36H 3fsaie,
ST, 3TEeTTeE, SToot#, 3FeeiA 51 T facare: acfed | fad s
geT: quslihd’ 3fd Fuafed | IFdHcTe Uivsdr: ‘PihecA $fd sorfed
| AerFfde urar: ‘Sediadd ¢ 3fd gafed | 5 Uge 7 g |
ISy Gy T UI: $¢ SEelddl URITH: | HEA AGHIOT el
Aied | AAEH 3¢ T°0 AT TdvAT AdH | dAT eTRded el
UT: [Asafed 3cqenfa | dfFeaed 3d T 91 Follldfed | Hdd
MHAMT: IPR: safd 37a: ¢ Fud RN Id o3t B a@e |
fereremsa AAABIAT qoufie ueds] 7 & Jieaafd (sl Tord
SdcaFerald sig foleied #afd | 36T Hec ICUHATER #FRIsAId AlGATd
SEINENIRIEITEERCRR I

‘W'Mﬁ:ﬂirﬂ:?



Correct Answer :-

| 3TSTIGer

favea Fvs:
3.
, 9y w8 787 @

Correct Answer :-

_fay #vs g7 6:

eallehl gfdcar refaiesesy UsiEy gaga;cdi A -

375t IO GV qAfed T T Hled T g Ad T
RISHHARTTTEHINAT T Gl JARITFT Pardr T
gl TO1 amﬁ HAgUd gadAEdsh aTl

gl e TawATEerd a1 wifed guanfar guepdart=||

Ao 5caed 37afsTEd -




U= gfecar s ﬂf&dgrdi A -

FHHAC USHh AFHald | 3d UG Sl 3¢ USHhold Sid dearadicd |
HellostTel Hafd AR T gous | Hdel FUR Hafd SAlsTT TWILE,
was adreA sfa T uffea amfa 1o sacaa: seA 3reae,
3TFSISTAH, IFHIOE, STefold 3edoid 3fd o fag@m: defed | Fd Herel
guT: quslihd’ 3fd Fuafed | @dHT IiUSAT: ‘PiheicA $fd sorfed
| AerERidee R Seclad * 31d gafed | 58 e o gorea s |
ISy ooy T I: 56 SEelcdl URITA: | POA HHIoT haeiel
Afed | FAlGIH 36 TS0 Aadlid FANHT ATH | dollAd dded [doiierg
gd: [aeafed 3cenfa | dfFedsd 3d T O Follldfed | &
ATSTRIT: PR s1afa 37d: =ig ®us AR aq 9ot Bar am |
fereTrerean A=A goufAg g, 7 & qitaafd (fAster Tore
Adcarerald dia ey #afd | 3T Hea TCUAER #FUsHE Hedld
duT AARHARHrAT TaUfd |

‘E@éﬁ’maﬁ:ﬁqug@?
@r + 3efa

1
W@ + gfa

2. =2

, at + 3¢

| W@ + smgefa

Correct Answer :-

. @t + 3efa



eellnl afScar srenfafevera ueeaed AgFc I -

375t I[O: G2Y JUAfed T T Hled T T A T
ThARIATSEHINGT T Tl JARIF HAdr T
dor TOT %lg&dlﬁ“‘daﬂtﬁ HAGIUTd UddaTde dTl

o Hcd TavARRed ar wifed guarfa qaepdiia|

et quaTtl Taffed ?

| HEY gIisAte Jud

_AH SISHMS Uad
, GISHGe AT ad

Correct Answer :-

Hed gIfsAa®e Uad



Yoliehl UfScar fATESesd Ueaed YgHcol Fadd -

G | STEIfE YRGS 6% Hedis HAT fagsoT |
Tooars TeloihdAdlcd fdcd ool faeiigd Rcd

ST &9 gXfd & SR #cg: wioTe e Ay |
srel: 3T efferaa—aar %’JW JaATIaAT: |l

foh 3rfAAT fBaa ?



uR=de afScdr 7T qGHc FIad -

Ao A eIt va et Rfd | AT a8 d qafy 3reemmar
fsafd aq: deer g gud sEfd | Fa @ Usgdyia: #afd dar
IR0 3TaRATT | fAeIred Foofar: regmashr: douferfed aAfeer: ar
#d, Wl 3oodellel IEANUT URA'| J&T H: GeENg: Hald dal drom]
yofd eeliehied Tefd | AG: fOd: 800 o AT Soosted 7 AT |
faeRer gFgesl drae faaldy awl gfe 3eara: s1afa |

ST U>AGeayid: Hafd dal SUel 3T I IRSGR Uoid |
Felfdd e Faraed Jareorardr e faggred afsd ureH seelierafd
| TEToe HEH I o Hodid | Fer foerfdadia: safd dar gearedn
frarafa adtereT 3rAfq | e Farft dee aeteafa afé awe
3GRIT Tool A | Feldd a0l digd TAE T Yofd Herfaea
Feed HRe al | I&T TsAFAfdauis: afd dar Fiae: scal SHEoH
THETIEY et stafd de: Geare faceare GaAmanE T Hudid
Terar# 3ufeRrfd 1 diae 3egefd | geasa JfSicar weeg gamom g
T HodIvH 3agfd |

‘ Feleda | 3T h: Tl ?

STCAH
1.
afaatea

SCcdH

9 ~—

R cdH
2 At

4.

Correct Answer :-

RAcdH
ot L



Yol UfScar reNfafesesd Teaed Ui Faad -

G | S YARTAISUT $% Hegha AR faqgeona |
Toord fASTehAUlcd fded dsT Tadlied Rica#l

SRT &9 g¥fd & SR Fcy: wioTe] e A |
el B3 efreraaaar %‘JW TIHAHAT: I

TARTHAGSOT foh Tl 2

2ellehl fScar sreNfAfevesd ueaey qgHca I -

12)

37ect a7om: 9oy Audfed 9l  @led T g Ad |
AT T Tl JARIFT FAdr T
gel TO7 %lileﬁ“‘dHE’i AU gadHAEdS aTl

god o TavAferd ar wifed guant qaehdia|

SdH: I0T: EH: ?

TqH:

4

Correct Answer :-



13)

URTBE UfScar YT YGHH A -

Ao A feIrEaT: Ta Segear Rgerfd | AT a8 $d I 3reemmaT
fAsafa oq: aee 9o gud e@fd | I @ UsdaNta: sEfd dal
IEROT ITarafd | faeared Fooiar: 3edmaedr: dauieered ‘Afde: A
Hd, Hal 3ooddliel IEANUI ORI’ | IGT F: GRESIY: #dfd dar glome]
yofd eellhied Tefd | A UG w00 T AR Seasaa o S |
faedsr G5 dreeh faelierd awl gf¢ 3eama: safa |

eI USAGRENd: HaTd dar SUE 3TN T RO, 9oTd |
el ¢ el garesral e faearerd ufsd ures sefierata
| IETeSg HEH 3T o wAfd | Far faeufaadta: safa der xore
foarafa adterea reafd | IfE Farfd e faesafa afg aws
3G Icod AT | FeIfad  SIEYl digd GA 9 Uofd wefacd
Peed DNeh dl | ol Ysaderidasid: Hafd dar Elden: #cal STV
FAEIE feTeh: srafd dea: eame facedrs] TATRI T HaUid
TeraR# 3uffd 19lae 3egefd | geisd 3foicdT deaed AN gaom
g HedIYH 3fagfd |

Iy R JTeferdtd ?

5

Correct Answer :-

. Q T -



UR=dE qfScdl Teaed Y&HH I -

ATST: A eI Ta Sefear Refd | AT a8 $d I JreemmaT
fAsafd aq: aeer 9T gud safd | Fer @ UsgadiE: safd der
IR0 TR | fAeTTd Foolar: 3redmashr: daufesrfd aAfd=: ar
Hd, ol 3codolledl IEANMUT URA'| IGT F: coE¥g: HATd dar 9ol
ysfd eellehied Tefd | A: UG E0T T AR Soassa o Hid |
oo G5 dreeh faelierd dwl gf¢ 3eama: s#afa |

el J>acRauiy: Hafd del HAET 3U«Ier g IR Jofd |
Felfdd I[e Sherdaed JaTcoradl Furcr facared ufsd urea seederafd
| TETese ed 31U o wuAfd | gar fqefaadia: safd dar aesrenl
farafa adierg 3rAfT | Iy Faftr o= JFerwafa afé dwm
3GRT Iod P | Feifdd  SAE0l dfgd TA T Uofd Herraed
Feed dRe a1 | Far ysaiderfdadia: safd der rdae: scar SHEmome
aAEIEd ferh: erafd der: et facedre AN T Hadfd
TeraR# 3ufefd 19lae 3egefd | geisd JfoicaT Seaed AT gaom
I HedIYH 3fagid |

Teeoad ' 3caEd 3 &: ?
| vt
EIIIIESE

IEhTE:

3.

4.

Correct Answer :-




Correct Answer :-

17) .
vollenl ufScar srenfaféseed veeedr Ageaca gaad -

G | STElE eARTHASUT 6% Hegha AT faqgeond |
Toasd TAedaAfued facd de fasieT ReaAl

ORI &0 gXfd fo e-iamen #cy: urone ereaaiear |
Frer: B efea=aR—Iaar %‘JW JAATHAT: |l

ToolsTH 5cd Tleeied -

A cdH
D -
4,

Correct Answer :-



UR=de 9fdcar U ﬂﬁtl,cdi A -

FH USh TFAATA | 3 UF Iol: 3¢ ‘USHhold 3id dearedied |
HelloolTel $Tafcl ARAIR T IoUH | HHe Eay #afd TalseT TR,
WS GWeeA 3id O UTaGI A |ISel #acdd: SaH 3isaid,
TFSISTIH, JTFHRE, STelold 3TFdoid sfd o fae@: daied | Fd dhefel
ToT: qUsiihd’ 5fd Faafed | AT TUSAT: ‘FihaAca, 3d soifed
| AteFRfdes urar: ‘Sedladd ¢ 3fd gafed | 3¢ 9gA 7 I |
ISy Toeldy T UI: 3¢ SEelddl URAA: | HEald HEaIuT shaellied
Afed | AAEYH 3¢ TS0 Aacdd TfVAT AdH | dSIAT eieded ey
urda: Reafed 3cqanfa | affaeaed a9 I Foeafed | S
MAT: HPR: 1l 37A: A FUa RN Id o B a@: |
fereeromsal ATeAANT qouTHE g 7R o Jieaatd (fesier Torer
AdcaFAatd o fdleel #afd | 3R HAeg IUATR HAUsAId AlGAT
dor AR w&afafa |

&: TATT: T HHAET e ?



uR=de afScar Teaed YA Jadd -

HoTsg: A feITEa: v Siefear Rgrfd | AT a8 $d 3 sreeqm
fasafd aq: deer g3 gud safd | Fer @ gsgadia: #afd dor
0T ITIRATT | faehred Foofar: 3redmashr: deuferrfed aferer: ar
#d, TGl 3ooddlid JEAMUT ORI’ | J&T F: Gelauig: #Hafd dar gremel
yafd eallhied Tefd | Ag: TU: 800 T AR Soosta o @i |
faesr GFue drereh fAdierd awl gf¢ 3eomra: #afd |

ST Y>deR@yiy: Safd dal HAAT 3Arde T IRTdGH Jofd |
Felfdd I[g Sharded JaTeoradl T facared ufsd ures sieieafd
| eeeg HEA 3T o weafd | Fer fderfdadta: safd der e
frarafa adierg 3rAfT | I Faf da Fewafa aff dwe
3GRI Icd AT | Falfdd  SAE0r dfgd TA T 9ofd FHerraea
Feed SR a1 | Fal yaiderfdadia: safd der Frde: scar S
A fereh: safd der: e facedr TN T Hedfd
Aerar# 3ufeerfd 1diae 3egefd | geisa Jfeical shel=eg G0N TR0
T HedIYH 3agid |

el AT 3Tafied ?
, T T
g
4.qﬁrﬁrm

Correct Answer :-

- o>gd gafd



Correct Answer :-

22)

UTde UTdcar U2TEd ﬂagdj:rdi qAAd -

A USHh AFNafd | 3d UG Il 3¢ USHoH Sid Hearadied |
Helloollel Hafd ACEATR T ToUH | HFe T Hafd IalsE T JURE,
sl audreed sfd o ufbgifsl Al 9ol $iacad: 36H 3ieold,
IFSISTH, 3TF6TRE, STotot#. 339 3fd T fagara: dafed | fad sae
g4 qusiichA 5fd dyafed | W@daAcTe afvsdn: ‘Piheica’ sfd soTfed
| AerERfdee R Seclad * 31d Jafed | 58 9 7 gorea S |
TSRy Teeldy T UIE: 3¢ SEeIcIdT URAH: | HI&T AGHI0T Hellle]
Afed | AT 3¢ T°0 Aadfd TdvAT AdH | dSIAT eieded fdeir
UT: Aeafed 3cenfa | dfFAeasd 3d T 99 Folldfed | &
MHTRT: AR Hafd 3c: =ic daad AUuR Iq ‘o f3am ay |
foreTresal A=A ToufRe Tede] a0 o cJfeaatd (fastel Forel
Aacarsatd o1 fodieel Hafd | 3T #Aeq YA AU AGATT
dur AR AT T |

FHAET IUATET &h: AT ?
GIDRE
HAT:

Qch:
2



PlTchel:

4.
Correct Answer :-

23) .
9cllahl gfScar reNfAfeseey UeTE YA I -

G | SIEIg ARTHASUT % Hegha AT faqeond |
Toosl TlstehAlaTed facd der fasiiea Rca=

avada%%éﬂman@:mﬂﬁw |
e BT feaarRaar %‘JW qaAarsHAeT:

& Asiedd ?

ol ufsScar rafafesesy ATy GHA FaAAA -

375t I[UT: U*N SIUgfed 9 T Hhied T GH: Ad T
hARISEHINAT T Gl JARIFA Hefid T
CERRU| agﬁaﬁmﬂﬁr HEIUTd UddHEde dTl

god THcd favARRd ar Wifed quars qhdra |

JARIFT ST &h: AM: ?






TRTSE ITSar UReAE YEHN FIAd -

Hops: ARG EIFaT: va Segs i Rgarfad | Al aF T il qqT el
fAsafd aa: deel 9T gud s9fd | Fe d: Usdadid: safd dar
3EROT 3TaRAfd | facared Hoolar: 3reamger: daufeeicd AfelT: T
Ha, ol 3oodelledl ANl ORA'| I&T F: GeENI: HIld dar Uioh]
gofd e@ihiRd Tefd | Ad: G 0T T AT Seddgeed o wfd |
fae e 5o arees faeieT aw i 3eara: safa |

el Ygerayiy: #afd der s 3u-arde g uRwdge] uafd |
FelId g Salded JaTcoradl o facared ufsd urea et
| AETeSg e I o HAfd | gar faufaadta: safa qer o
fTarafa aderg 3AfT | I Fafy Sa Feeafa aff dwe
3ERIT Tced FUTT | Falldd A0l ded A T UoTd FHaltded
Feed e a | FaT ysaidefdadia: safd dar Firde: cal STHEve
THEIEY fRaTeh: said de: Cdm facedr] TArRI I SHuafd
TeraR#_ 3ufefd 19lae 3egsfd | g=sd Jficdl el GA0M O
T HodvH 3TFefd |

' FIY * 5caT F4 yeH T guatd ?

2 ~

| faersay

4. -

Correct Answer :-



uR=ae ufSaar yeaey ﬂﬁdgcdi ad -

Tdcl Ugoh TesIafd | Id TG ST 3¢ UShold Sfd Fearerdied |
HelleedTel #afcl ARAIR T ToUH | HHe Sl #afd IalssT JU%E,
WA TR sfd  Ulbaa AN STl acad: SaH 37eaid,
3TFSISTTH, 3TFOIRE, STolold 3ol 5T o facam: aafea | f&d wae
TuT: qUslihd’ 3fd Fafed | FAAT fUSAT: ‘FicheAca 3d s0Tfed
| ArerRfdeg uram: ‘Sedlatd ¢ 3fa gafed | 5 9gA 7 oI |
quagaqm:géqgmdul TRITA: | P& FEA0T HFcl
wfed | FAEH 5& TT st G Faw | ARt sRaed e
urd: fasaled 3caenfea | afeFeTed a1d 9 O Foedied | S
QMHARIT: 3PN §1afd 37 A¢ FU AR aq o B ag: |
fereTremear Ag=TATATY qoufag uede w0 7 Jiedafd (feerer Tue
SdcaFaid oi¢ fleel fafd | 3R HAeg AT SIsdla Aad
T TR g Fafafd |

' QUSI * ST F: IO ?



Yol UfScar renfafese yeaed qgHc Faad -

G | S YARTAGSUT $% Feghe AR faqgeon |
ToorsT fetehAldTed facd der fasiea Rica=

ST &4 gl fo e ey o esriEgar |
rer: 3 efreaa—aar %‘JW TIHAHAT: ||

@:mﬂ%?

?) uztSes” U 3 qey: 3fEa-
39

1.

, 9™H
3. E
HEJH

4.

Correct Answer :-

| FEgH



Yol afScar IeNfAfEvesd Teaed AGH FaTd -

375t I[OT: G¥W S9Afed 9 T Hied T GA: Hd T
RIHFRTAEEHTNAT T T FARIFT Faaadm T
gl o7 amﬁmﬁéﬁmﬁml

ol WHc fawATed ar wifed quantel quepdra |

sz%gﬁﬁa?

Correct Answer :-

Topic:- Social Science (SSC)

1) Who is the political head of Cabinet secretariat? / Hivisa afaray &1 IeFifoe g9 P %?
1. Prime Minister / TTTHAT

2. Secretary / gfa

3. Cabinet Secretary / Hved afta

4. Cabinet Minister / Bfae T3t

Correct Answer :-

« Prime Minister / T&TTH!

2) What is also called as the ‘Hare system’? / TR U &Y R A Pel SITdl %?

1. List System /ﬁ—ﬂﬁ (R“IR) quret

2. Alternative Vote System / Joiede die yomelt

3. Category Based System / goft (W) ST Joret!

4. Single Transferable Vote System / U d gEIaRUNT dle Jomert

Correct Answer :-

. Single Transferable Vote System / T d GeaRUIY die yomett

3) Which is not a part of the National Action Plan on Climate Change? / ﬁ'ﬂ' -k Cac) e darg TRada ) ?T@TI' BT AT BT %WT q't»ﬁ %?
1. National Water Mission / T@’q 5 fRE

2. National Mission on Pollution Control /WWWW

3. National Mission on Sustainable Habitat / TI'@?:[ Tad ygiaRur fi=E



4. National Mission for Sustainable Agriculture / Tl'gl'q yRufi ﬁ@f e

Correct Answer :-

« National Mission on Pollution Control / ?Tg“rq Uguur [ERENAEEE]

4)  Match the following:

1. Kuka Movement A. Lucknow (1936)
2. Mappila Rebellion B. Gujarat (1928)

3. Bardoli Satyagraha C. Kerala (1922)

4. All India Kisan Congress | D. Punjab (1854-72)

e # T 74

1. T 3iErelst A. TTAF (1936)
2. #Afer fEE B. T (1928)
3. IRERT ToAEE C. T (1922)

4. @ IR A F3T | D. 95 (1854-72)

1. 1-A, 2-B, 3-C, 4-D
2.1-D, 2-B, 3-A, 4-C
3.1-D, 2-C, 3-B, 4-A
4.3-D, 2-C, 1-A, 4-B
Correct Answer :-

- 1-D, 2-C, 3-B, 4-A

5) Bairam Khan was given the title of Khan-i-Khanum during the reign of: / UG B 37-@? UMRT & GRE G -Y-9-=H oY Iurfyr &t Tlﬁ oft:
1. Jahangir / Tﬂ%}l""ﬂ?

2. Humayun / Eﬁl"‘i

3. Babur / &R

4. Akbar / 3{hdaX

Correct Answer :-

+ Humayun / ETITq\

6) Active learning starts by posing questions, problems or scenario. This is best represented in: / afspa Rreor Wﬁ, e ar uie=y &1 U d Y
RH BT ¢ | THPT Jad 37T e #3I

1. Problem-based learning / THT-STeMRA IR

2. Technology-based learning / MeNfiest-anenfea siftemm
3. Inquiry-based learning / 3{~JNOI-3TETR SHTRFTH

4. Activity-based learning / Tfafd-amenfed i

Correct Answer :-

« Inquiry-based learning / 3INUL-STRT SHTERTH

7) ‘Aral Sea’ is one of the largest lakes in the w0|:ld .is completely vanished away due to unscientific human intervention. In which country is Aral sea
located? / *3RT AN’ fay #1 Taw 7} 3wl A | U { St AP WG AT F HRUI TH e A AT 81 TS 81 3RTd IR {59
I A fRya 82

1. Kazakhstan / SolTaed™
2. Estonia / Q@ﬁtﬂ
3. Latvia / @Tdfaan

4. Venezuela / 391\3 Udd



Correct Answer :-

« Kazakhstan / BRI

8) is a system introduced by the government where the issue price of food is much lower than the market price to enable the poor to

purchase the subsidized food. / meﬁﬂiwm%, forad aferdt ara Waﬂmﬁz%ﬁmnﬂiﬁaﬁﬂm
FA 2g W Yt &1 frfy geu 99k gwa & 9gd w49 g 3|

1. Peoples Distribution System / S fqa=or yomredt

2. Public Direct Service / ATGI-d Teaef T

3. Public Distribution Scheme / TAS=es fAdROT TSI
4. Public Distribution System / Tduif-id faaror gormeit

Correct Answer :-

« Public Distribution System / grdoies faaRur yormet

9) vote is exercised by the speaker in the house in case of a tie where in equal numbers of members have voted in favour or against a bill
or resolution. / THTAT (215) P fRufq # wrafer fAdu® a1 w=ae & uei v faRiy # Gew) &) G GBI A 74 fohar 81 99 e o sremel gRT qd &1
IUGNT foba e 1

1. Absolute /ﬁ?ﬁ&‘[ (‘Q&"—ﬁ?}@)

2. Primary / IRt

3. Relative / Tafdd

4. Casting / BlIBED

Correct Answer :-

« Casting/ BlIEED

10) Arrange the following events/movements in the correct order of their chronology:
1. Jalianwala bagh massacre

2, Second Civil Disobedience Movement

3. Boycott of Simon Commission

4. Quit India Movement /

fFrafafaa gemsil/ sicial &1 39 FTawd F AR Tl HH § afRud H3:
1. SfraTaTa a1 gATHIS

2. fefra wfamra sraqm siigier

3. |39 HHIRE T qfgsHR

4. YRd BIS! g

1. 2-3-4-1

2.1-2-3-4

3.1-3-4-2

4.1-3-2-4

Correct Answer :-

o 1-3-2-4

11) The Play ‘Neel-Darpan’ by Din Bandhu Mitra portrays the plight of: / = ag o gr1 IRE e Hia-gdor # E_ﬁﬁ fRufa =1 Reror
frar man 8:

1. Weavers / m

2. Indigo Planters / 1e ST g1

3. Landless Labourers / WEGQQQ
4. Bengali Artisans / SR HRIRY

Correct Answer :-



« Indigo Planters / /el ST AU

12) 1n which year was Chhatrapati Shivaji Maharaj crowned as the Maratha King? / Baufa Rarsh HERTS &) forg 9 WRreT e F FU A
TSl Ug =T 4T U1?

1. 1680
2.1674
3. 1630

4. 1664

Correct Answer :-

13) The Government has started with the objective of promoting co-operative marketing of agricultural produce for the benefit of farmers. / GYPR A ot

F Ay F Rig oY 3u & Teai! fAuvH &) 9ear 3 F 3T P w2

1. National Agricultural Confederation Management Fund of India Ltd. /ﬁw m m ﬁeﬁm? He \?rI'T'CF 3'%73” ﬁ‘lﬁ-@g

2. National Agricultural and Commerce Management Federation of India Ltd. /A=A m Q?s’ HHY 'a%l\_rlﬂ? eI 3Th 's{ﬁ';tlT fafies
3. National Agricultural Cooperative Marketing Federation of India Ltd. / A ThidheaRd Bl T 1T e 3iits e faftes
4. National Agricultural Cooperative Management Federation of India Ltd. / A TidheaRd Bl o BhevRH 3T o fafties

Correct Answer :-

¢ National Agricultural Cooperative Marketing Federation of India Ltd. /AR Q‘j HeaRd BRI HIH T heeqH GI'TWE%IIT RS
14) Right to Education Act came into effect on ./ Fgn o1 sfreR aftfeaw | TR gl

1. 1 April 2010 / 1 3 2010

2.1 March 2011 / 19 2011

3.1 February 2012/ 1 TRER 2012

4. 1 May 2009 / 1 TS 2009

Correct Answer :-

« 1 April 2010 / 1 33 2010

15) is the difference between the value of a country's imports and exports for a given period. / s Ma"m’{ 3afy %?i%rq i s
3T 3N FHafa geat & g &1 3R 1

1. The Balance of Economic growth / 3Tf¥fe faem &1 Hga
2. The Balance of Payment / HITdI T ddeld
3. The Balance of Trade / SITUR T HJe

4. The Balance of Exchange rate [ R e RGRE

Correct Answer :-

« The Balance of Trade / SATUR T T

16) Rajukas appointed by king Ashoka performed the following duty? / XTSIl NP GRT ﬁ'ﬂﬁ Tlﬁﬂﬁ' = frafafea sda fumnre
1. Revenue / X[SI¥d

2. Religious / Y

3. Military / I

4. Judicial / TP

Correct Answer :-

« Judicial / <OTRI®

17) MRTP stands for ./ THIARETH &7 favega &4 8l
1. Monopoly & Restrictive Trade Prohibition Act/ W Q@:W 2@' Uifgfo=H tae



2. Monopoly & Restrictive Trade Pact / HIHITTel @W 23 U
3. Monopoly & Restrictive Trade Practices Act / AR Q@'m 23' PIEeRR U<
4. Monopoly & Restrictive Trade Prices / AR QE’W a@-’ CIES R

Correct Answer :-

» Monopoly & Restrictive Trade Practices Act / A Q@'m 23 PIESRR Tac

18) At which places are the cave paintings found? / 0T ICE] (ﬁﬁm fFaEw g iG] %?
1. All the above / JURIGRT Gt

2. Bhimbetka only / FHad Higdes

3. Badami only / &I SremHr

4. Ajanta only / FHad il

Correct Answer :-

« All the above / SURTSRI G+t

19) Ashtapradhan was the official council of: / TFHYUTT THPT 3freTive afivug ot
1. Mughals /H‘T(_"ﬁ Eal

2. Marathas / FRTGT3{ T

3. Afghans / (T BT

4. Rajputs /T[\_Il'q\?ﬁ Eal

Correct Answer :-

« Marathas / ARTST3] &7

20) In which among the following years, did India conduct series of nuclear tests? / fFrafafaa # 3 feg ad ﬁ, YRT A UHTY] Teon Ft
YT HF AT BI?

1. 1998
2.1997
3. 1999
4. 1995

Correct Answer :-

« 1998

21) Who has the monopoly in issuing currency notes in India? / HIRd i RiEAl (ﬁ'ﬁ?ﬂ) e 9N 31 # fPae tafter 3
1. Commercial Banks / IO o

2. NABARD / -TT&TS

3. Ministry of Finance / a1 waie

4. Reserve Bank of India / WRd1g ReTd §d

Correct Answer :-

« Reserve Bank of India / HRd1g ¥ord §

22) Who was the President of the Constituent Assembly? / TR YT F 3reme HiF A2
1. K.M.Munshi / % TH. Gaft

2. H.C.Mookerjee / Qﬁ?ﬁ w

3. Dr. Rajendra Prasad / . REERRIC

4. Dr. Ambedkar / 3. TISHY



Correct Answer :-

« Dr. Rajendra Prasad / 31. IS UNTG

23) Who gave the famous slogan “Garibi Hatao”? / "I getsit &1 Ui AR fram fear
1. Rajiv Gandhi / ITSTia TTieft

2. Jayaprakash Narayan / STOURTRI TRTIUT

3. Indira Gandhi / $feRT il

4.V.P. Singh /4% O1. Rig

Correct Answer :-

+ Indira Gandhi / ST TTieft

24) Who is the proponent of social recitation method? / JTHIRIS TR TS UG BT IRAad P %‘.’
1. Max Weber / e JsR

2. Karl Popper / P IR

3. Auguste Comte / 3TRE B

4. Adam Wesley / USH CEs|

Correct Answer :-

« Adam Wesley / USH EE|

25) Who was well known as Lokhitwadi? / g @llpieddrd! & U A ST SITdT 412
1. Gopal Hari Deshmukh / mura Eﬁ W

2. Jyotibha Phule / GG H’@f

3. Ishwar Chand Vidyasagar / SR d¢ fagmmR

4. M.G. Ranade / TH. CIRGIE]

Correct Answer :-

« Gopal Hari Deshmukh / T Eﬂ %WEJ,@

26) A teacher gets immediate feedback by conducting JTh Rrerw & TS R debTd trﬁlgf@ YT hdl %I
1. programmed evaluation / PRIHITS HAib

2. summative evaluation / TTIEH® i

3. diagnostic evaluation / WW

4. formative evaluation / FAfOTETEH HAiDhA

Correct Answer :-

« formative evaluation / FHTOTE® H\?Cl'lib_*f

27) According to the Constitution, India is best described as a WA:I0ICkd SR, HRd B I D & wu § gfofa fear
TRl

1. Union of States / XS4 &1 99
2. Unitary State / ThTHD I
3. Sovereign state / GUHd U
4. Federation / TE&XR

Correct Answer :-

« Union of States / I1sdl &1 TY



28) India achieved self-sufficiency in food grains by the year ./ HRAG A ¥ TP GIeTd ¥ A HRar g1iRra ot
1. 1956
2. 1986
3. 1996
4. 1976

Correct Answer :-

« 1976

29) has replaced the Planning Commission of India. / A YR TS 3TART &1 I @ ferar g1
1. Antyodaya Anna Yojana / Sy 3 Ao

2. Yojana Upay / oM IU™

3. Yojana Aayog / IS ST

4. NITI Aayog / Ifal 3mawT

Correct Answer :-

« NITI Aayog / TIfdl 3aRT

30) Identifying the learning difficulties or weaknesses of pupils for instruction is known as: / IECRIED ﬁ'Q' faenfaY #t srfrmy waeht
F a1 SN BT ggar-T F U H FET AT

1. Unit test / SPTS TRI&UT

2. Diagnostic test / AT TRieror

3. Prognostic test / Qﬁﬁ@ﬁfb_ e
4. Achievement test / ST URT&OT

Correct Answer :-

« Diagnostic test / EHIECARI A

31) The major objective of dramatization in the teaching of social science is: / qreTfore fag & Rieor § Aredia uidr &1 gy G%TRT
s aar e:

1. Comprehension / qy

2. Knowledge / 1

3. Research / 3

4. Application / &ﬂaﬂ

Correct Answer :-

« Comprehension / ey

32) The ‘Panchsheel’ agreement was signed between ___ ./ ga=fter '\‘m@a’ w_ & HH TR fpu )
1. China and Tibet / F TR foiesd

2. Pakistan and China / OTferRaT STR o=
3. India and Pakistan / HRd 3R UTfhdT=
4. India and China / HRd 3MR

Correct Answer :-

« India and China / HRd 3R I

33) The age of the earth according to majority opinion is: / SgHd & SJUR, t[“ﬁﬁ Ed| 3y 2
1. 40-50 Billion Years /40-50 fafera adf



2. 4-5 Billion Years / 4-5 faferaq as
3. 4-5 Million Years / 4-5 foiferg oo
4. 1-2 Billion Years / 1-2 fafera aef

Correct Answer :-

« 4-5 Billion Years / 4-5 faferg aef

34) The strategy that enhances student knowledge and enables them to acquire collaboration, communication and independent learning skills

and prepare for lifelong learning is: /Wwﬁﬁwmﬁwﬁﬁ%eﬁva—%mﬁwaﬁ?wmmmmﬁsﬁ?
3refta= ARAT & fore werm st 3:

1. Written assignment method / fafad W‘\’H g
2. Project method / RS Ui

3. Practical method / TONTIET® UGfd

4. Demonstration method / THTONERUT UG (T

Correct Answer :-

» Project method / e ugfa

35) The advantage of discussion method is: / =t faftr &1 Fa @y %:
1. Emphasis on learning instead of teaching / fR1&101 & SO T W SR
2. Emphasis on learning with lecturing / SRS & 1Y AT W

3. Emphasis on learning with technology / WNIDT & Y AR R SR
4. Emphasis on learning with activity / FHGHAY & Y AT R TR
Correct Answer :-

« Empbhasis on learning instead of teaching / 2181 % T R WSk

36) The only session of the Indian National Congress which was presided by Mahatma Gandhi was held at : / YR TI'@TI Eapnkal UhHTA
|7 forat sregeran wgTe Tidh A B <R, wgt smaifora foar wa

1. Allahabad / STeldIG
2. Belgaum / U]
3. Karachi / @

4. Surat / {Xd

Correct Answer :-

» Belgaum / ERUIG]

37) The qualitative judgment of value and purpose is: / e 3R G%W BT YUITHD ot grar %I
1. Evaluation / H\?q'lib_'f

2. Marking / 3fh

3. Examination / TRT&f0T

4. Grading / Bl

Correct Answer :-

« Evaluation / eicbd

38) NSE stands for ./@@émﬁﬁaw_%l
1. National Support Establishment / ﬁw qch‘é Q@i@lﬂ'ﬁ?

2. National Statistical Economy / I Riefewd gwArd!

3. National Statistical Enumeration / ﬁwm@_ﬁw



4. National Stock Exchange / AR T TadS

Correct Answer :-

« National Stock Exchange / ERERETEE Wa\—ﬂ

39) Which is not a characteristic of formative evaluation? / B T FFrAfUTHS W ®t Th faryan qﬁ%"

1. It is an integral part of learning process. / Ig SFTH B} Ufehan &1 T AT 3T 3|

2. It is generally a teacher made test. / dg 3TH AR Tdh fRrers gRI fafda Th e %I

3. It pinpoints difficulties being faced by a weak learner. / g U HHAR ﬁT&ﬂﬁ% A M arelt 37—%_*“3'@[ Cal E’ﬁ?‘f Hdl % |
4. It does not help in the modification of instructional strategies / & W Yorifadt o e & Heg q%:f?:b_\’?l'l %I

Correct Answer :-

« It does not help in the modification of instructional strategies / g &@W JurRfa & TRNeE H g el dRaT g
40) Which is not a correct statement? / ﬁ'{:lﬁl'@?f -k ark: | Th w DY qﬁ %?

1. Battle of Buxar was fought between British East India Company and Mir Jafar. / SRR Eil T’I@T&c fofewr 'Euf? gfear ot 3R iR SR & s F‘I_eﬁ
RERI

2. The third Anglo Mysore War was fought between British and Tipu Sultan. / GRS ﬁ{[{ & fafewr sk ﬁq\w F s ASTIAT YTl
3. Partition of Bengal took place in 1905. / §TTd T fqUTSH 1905 T g3
4. Queen Victoria took the title of Empress of India in 1876. /ITEﬂTFﬁ T3 1876 & YR B Wﬁ‘ﬁ &1 Rare ure )

Correct Answer :-

« Battle of Buxar was fought between British East India Company and Mir Jafar. / SRR A FETEF fafexr ﬁ S%QT HUA G'ﬁT iR SR Fa ?'ITSFT
TS ot

41) Which Article in the Constitution grants special status to Jammu & Kashmir?/ Sfdtr= k| Glﬂ%? ﬁ'ﬂl\?ﬁ? FIR Fi fa=iv g=it
qare?

1.369
2.368
3.370
4.353
Correct Answer :-
« 370

42) Which of the following types of method gives priority to the individuality of the student? / fafrfad A Farer S fRRisa s

Fafaed &) yrufirear 3t 32
1. Learner centered / Rremmeff dhfe
2. Teacher centered / 18/ HfEd
3. Lecture centered / RS W igd

4. Subject centered / Tao dHfsd

Correct Answer :-

« Learner centered / TRremff g

43) Which of the following is not one of the conceptual pillars of Human Development? / Frafafaa # @« w9 e & daive @ &

AP TS &?
1. Sustainability / RRd
2. Productivity / 3dTgahdl

3. Equality / FHTAAT



4. Empowerment / RRICSERU

Correct Answer :-

« Equality / JHAT

44) Which of the following learning method is most effective in social science learning? / Frafafaa # @ o1 ot siffrm faft g
g drem & |ad uwTdt 32

1. Learning by reading / o+ gRRT ST

2. Learning by rote memorization / SR THRUT gRT ST
3. Learning by doing / m ST

4. Learning by hearing / %01 gRT 3{fOTH

Correct Answer :-

« Learning by doing / ﬁmw ST

45) Which of the Indus Valley Civilization cities had a dock? /ﬁii{ e Fugar ara fre e | siw U1
1. Harappa /Sl

2. Lothal ) SUd

3. Alamgirpur/ GﬂﬂmﬂTER
4. Kalibangan / CANICRI

Correct Answer :-

« Lothal ) @

46) Which among the following is a critique of society and culture drawing from knowledge across social science and humanities disciplines? /

fFrafafeaa ¥ @ 14, g O oik A fawal & 31 gR quTe iR Tpfa @t wwiten Har g2
1. Marxist theory / AToyaTe} fRIgid

2. Class theory / I Rigid

3. Critical theory / 3T RIgid

4. Revolutionary theory / IRaa-TaTd! Rgid

Correct Answer :-

« Critical theory / STAFTH® gl

47) Which country has presidential system and executive powers are in the hands of the President? / fradwd ?Tg'qﬁ yomelt § 3R
PRI Wfal wgufa F gTdi & et 82
1. UK /&

2. France / 19

3. USA /qudU
4. Canada / 1S

Correct Answer :-

48) A child who is an extreme introvert may be reluctant to express himself in an overt manner. Which technique can be used to study his/her
personality traits? /

TSP 9T S S Syl 8, 98 e &1 GA aild A oad $1 A g 1 Thdl 8 | STP AfdRicd AN BT 3Had H1 & forg
fora aaite &1y far o aear 82

1. Projective technique / IR deiis
2. Dramatization / TCHIT TR



3. Demonstration / THTUNEHRUT
4. Role play AT

Correct Answer :-

« Projective technique / R daeiie

49) Which of the following is definitely achievable in a span of one period? / ﬁaﬁ@aﬁ%aﬁqﬁ%wﬁw 3af¥ & SieRTer # UTw g G g2
1. Ideal / 3{TGR

2. Aimless / ﬁ%—&m

3. Objectives/GaQ’q
4. Oversight / FRigor

Correct Answer :-

« Objectives / 3T

50) CANCELLED

What part of a tidal cycle has minimal current? / SO Tk & foog U d GAdH URT gt 82
1. None of these / ST‘TEI J Ehﬁé EH

2. Flood tide / SARIT 91

3. Ebb tide / HICT

4. Slack tide / & (W) YRT

Correct Answer :-

« Slack tide / & (W) YRT

51) Who was not the leader directly involved with Khilafat movement (1919-1924)? / 398 @ $I9 ¥ AdT fasig Sga(1919-1924) &
U ¥ A T8 I A2

1. Mohammad Igbal / m EEIN]

2. Mohammad Al / HIgHg 3feit

3. Pir Ghulam Mujaddid Sarhandi / OR am™ geTfeg WRed!
4. Maulana Shaukat Ali / HTGTT Siied 3feit

Correct Answer :-

« Mohammad Igbal / TgHIG 3Hard

52) Who wrote the ancient Indian Play Malvikagnimitram which referred to the defeat of Yavanas on the bank of River Sindhu in the hands of

Vasumitra? / YT YRTT ATed Arafaemiafesd e forar o, forad Rig 7 & ae wR ot & 314l g+l 3t gR &1 3ad 12
1. Asvaghosha / S{Ey
2. Harsha/?ﬁf

3. Sudraka / J[aPh
4. Kalidasa / BTG

Correct Answer :-

« Kalidasa/ ®Teliar

53) Due to which of the following winds, Central Europe enjoys a warmer climate? / Frafafea 4 9 59 ga1 & R, A9 W TP T
TEATg BT 3T ISTAT &2

1. Bergwind / ifuaa
2. Zonda / SIS

3. Foehn /



4. Chinook / &
Correct Answer :-

« Foehn /T

54) Which of the following is not a high cloud? FFafafeada ST 3= drqd (BT% CHIRE)) q’ﬁ%’
1. Stratus / TR} ST&dA @m

2. Cirrostratus / T&TH W}I d1Gd m@ﬁ)

3. Cirrus / G&TH S1Gd (RR9)

4. Cirrocumulus / G&TY HURI d1GA mw

Correct Answer :-

. Stratus / SR} SGd @i?ﬂ)

55) Which of the following is not a temperate Grassland or Shrub-Land Biome? / fFrafafaa ¥ @ S Ui« o ar 3"@31?
987 (yad's IaH) T8 72

1. Sahara / 9gIRT
2. Veld / 908

3. Prairie / OX1
4. Steppe / Tt

Correct Answer :-

o Sahara / U8RI

56) ‘Al Aziziyah’, the hottest place on earth is located in which country? / q%'ﬁ R I TH R <3 srefiforame fra 3w o fRa @2
1. Libya / Siife

2. Sudan / gSTH

3. Congo / Caul

4. Nigeria / qﬁ“‘ﬁﬁ’_‘m

Correct Answer :-

« Libya / ciifaan

57) The Treaty of Bassein was signed by on December 31, 1802 with the British. /31 &R, 1802 Eg| gIRT 3T & 1Y af=
1 W W gweR far war am

1. Yeshwantrao Holkar / JRIGaRTd EPIW
2. Daulatrao Shinde /aw ﬁ'l%

3. Ghasiram Kothwal / STRTH @ Idard
4. Bajirao II / STofRma I1

Correct Answer :-

« Bajirao IT / STeiRm@ I

58) Rama’s Bridge or Rama Setu is located in which among the following straits? / XTH BT ﬁﬂ qrIH @ﬁ fFafafea 3 fea E'I?ﬁ o fR@

34

1. Cook Strait / $b DI Wret

2. Bering Strait / CIRUE] @'@

3. Palk Strait / UTh SIS HR™HE
4. Strait of Tebrau / TH® BI @T&FT

Correct Answer :-



« Palk Strait / T SIATSHEHEY

59) E-learning in social science helps the students for: / MRS a3 & $-aff1 o @1 e § 7ag Peare:
1. Simulated learning / W STy

2. Rote learning / 3 ST

3. Learning by doing / m ST

4. Anytime and anywhere learning / Faft ot 3R ao—sﬁ i} arferm

Correct Answer :-

« Anytime and anywhere learning / Faft ot 3R HO_E?T i} arferm

60) Where is Ring of Fire located? / &1 aifee wrR ﬁﬁ%ﬁl’ %?

1. Along the coast of Antarctic Sea / JeThiew R & dc & Y

2. Along the coast of Atlantic Ocean / 3fcdifed ERIRSIRIEY HdcH Y
3. Along the coast of Indian Ocean / e IENIFR & dc & A1y

4. Along the coast of Pacific Ocean / Ud HERITR HdcH Iy

Correct Answer :-

« Along the coast of Pacific Ocean / URId HETRRR & de & Y



